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M.A. (Second Semester)  Examination, 2015

ECONOMICS

Paper - V(d)

(Mathematics of Economic Analysis)

Time Allowed : Three Hours ] [ Maximum Marks :  70

Note : Answer five questions in all. Question No.1

is compulsory. Attempt one question

from each unit.

kegâue heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØeMve meb. 1 DeefveJeeÙe& nw~
ØelÙeskeâ FkeâeF& mes Skeâ ØeMve keâerefpeS~

1. Explain the following in brief  : 3×10=30

efvecveefueefKele keâes meb#eshe ceW mecePeeFS :
(i) Assumptions of Linear programming

problem.

jsKeerÙe DeeÙeespeve mecemÙee keâer ceevÙeleeS~
(ii) Economic implication of Leontief inverse

efueÙeesvšer]Heâ Øeefleueesce keâe DeeefLe&keâ efveefnleeLe&
(iii) First order difference equation

ØeLece keâesefš keâe Devlej-meceerkeâjCe
(iv) Check for the viability of the input-output

model having following technology matrix-

efvecveefueefKele lekeâveerkeâer iegCekeâeW Jeeues Deeoe-Øeoe-cee@[ue
kesâ GefÛele efve¤heCe keâe hejer#eCe keâerefpeS-
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Unit-IV/FkeâeF&-IV

8. Find optimum input combination and maximum

output from following data using Lagranze's

method. 10

uee«eWpe efJeefOe keâe ØeÙeesie keâjles ngS efvecve DeebkeâÌ[eW mes Devegketâuelece
Deeiele-Ùegice leLee DeefOekeâlece Glheeove %eele keâerefpeS~

LKQ =
4L + 2K = 80

9. Find dual of the following program and solve

the dual by Simplex method or graphically

(graph paper not to be used). 10

efvecve DeeÙeespeve keâe Éwle efueefKeS leLee Éwle keâes efmecheueskeäme
efJeefOeÙeeB «eeHeâ Éeje nue keâerefpeS («eeHeâ heshej ØeÙeesie veneR keâjvee
nw)~
Maximise :

DeefOekeâleceerkeâjCe keâerefpeS
5x – 2y + 3z

Subject to

efoÙee nw efkeâ :
3x – 4y + 2z ≤ 9
2x + 7y + 5z ≤  11
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(v) Degree and order of differential equation

DeJekeâueve-meceerkeâjCe keâer Ieele SJeb keâesefš
(vi) Linear homogeneous differential equation

and its solution

jsKeerÙe meceIeeleerÙe DeJekeâueve-meceerkeâjCe SJeb Gmekeâe nue

(vii) Show that : 2
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(viii) Constrained optimisation

yeeefOele DevegketâueleceerkeâjCe
(ix) Saddle point (mevlegueve efyevog)
(x) Show with the help of differential equation

that AR curve coincides with MR Curve of

the firm under perfect competition.

DeJekeâueve meceerkeâjCe keâer meneÙelee mes oMee&FS efkeâ hetCe&
ØeefleÙeesefielee ceW Heâce& keâe Deewmele Deeiece Je›eâ Gmekeâe meerceevle
Deeiece Je›eâ ner neslee nw~

Unit-I/ FkeâeF&-I
2. (a) Solve the following :

efvecveefueefKele keâes nue keâerefpeS :
(x – y)dx + (x+y) dy = 0
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(b) Find demand function using differential

equation for which price elasticity of de-

mand is constant a.

DeJekeâueve meceerkeâjCe keâe ØeÙeesie keâjles ngS Gme ceeBie
Heâueve keâes %eele keâerefpeS efpemekeâer ceeBie keâer keâercele ueesÛe
efmLejebkeâ  a nw~

3. (a) Solve (nue keâerefpeS) :

xy2

1x–y

dx

dy 22 +=

(b) Find indifference map if 
y3

x2
MRSxy = .

Ùeefo 
y3

x2
MRSxy =  lees lešmLelee ceeveefÛe$e %eele keâerefpeS~

Unit-II/ FkeâeF&-II

4. Derive and explain the interaction of multiplier

with accelerator using difference equations.

10

Devlej meceerkeâjCeeW keâe ØeÙeesie keâjles ngS iegCekeâ SJeb lJejkeâ keâer
Devle:ef›eâÙee keâes oMee&FS SJeb JÙeeKÙee keâerefpeS~

5. Describe Cobweb-model with the help of dif-

ference equations. 10

Devlej meceerkeâjCeeW Éeje cekeâÌ[ peeue cee@[ue keâer JÙeeKÙee keâerefpeS~
Unit-III/FkeâeF&-III

6. Write an essay on uses of game theory in eco-

nomics. 10

DeLe&MeeŒe ceW ›eâerÌ[e-efmeæevle kesâ ØeÙeesie hej Skeâ efveyevOe efueefKeS~
7. For following technology matrix and final de-

mand vector, calculate the outputs of the three

(2) (3)


